











Assertion (A): The fraction representing the shaded portion is 1/4
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Reason (R): a fraction is a number representing part of a whole

a)
b)

c)
d)

Both Assertion (A) and Reason (R) are true and Reason(R) is the correct explanation
of Assertion(A).

Both Assertion (A) and Reason (R) are true and Reason(R) is not the correct
explanation of Assertion(A).

Assertion (A) is true but Reason(R) is false.

Assertion (A) is false but Reason(R) is true.

2. Case study based questions.
Study the content given and answer the questions that follow.
A florist had 200 roses, 180 marigold and 320 orchids with him. He was asked to make
garlands of flowers with only roses or only marigold or only orchids each containing the
some number of flowers.

(i)

(i)

(iii)

(iv)

The correct prime factorisation of 180 is:
a)2x2x3x3x5 €)2x2x9x5

b)4x3x3x5 d)4x9x5

What will be the largest number of flowers that he can join together without
leaving a single flower while making garlands.

a) 20 c) 15

b) 40 d 25

Find the total number of garlands.

a) 30 c) 35

b) 40 d) None of these
Find the least number which is exactly divisible by 200 and 180

a) 180 c) 200

b) 1800 d) 2000

3. Find the sum of the greatest and the least 6 digit number formed by the digits 2, 0, 4, 7, 6,
and 5 using each digit only once,
4. Using distributive property, find the following product.

i) 937x105 i) 947 x 96
ii) 346 x 1007 iv) 996 x 267

5. Find the first five common multiples of.

i) 2,3and5 i) 3,4and 9

6. Write all the composite numbers less than 35,
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